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1 2 3 4 5 6 7 8 9 10

Draw the reflection of the shaded shape in the mirror line.

Use a ruler.

cm

cm

mirror line

[1 mark]

1
1

[Extra]

Total5

Here is a square with a design on it.

The square is reflected in the mirror line.

Draw the missing triangle and dots on the 
reflected square.

You may use a mirror or tracing paper.

3

1 mark

mirror line

3

Total5

Here is a square with a design on it.

The square is reflected in the mirror line.

Draw the missing triangle and dots on the 
reflected square.

You may use a mirror or tracing paper.

3

1 mark

mirror line

3

[1 mark]

2
2
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Draw the reflection of the shaded shape in the mirror line.

Use a ruler.

cm

cm
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PAST QUESTIONS BY TOPIC

 4 

Circle the number that is closest to 250

 261 246 255 209 275  
1

1 mark  

1

Draw the reflection of the shaded shape in the mirror line.

Use a ruler.

  

mirror line

  

2

1 mark

2
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[1 mark]

Note that these questions are sorted in date order (most recent questions first).
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[1 mark]

3
3

[2007]

Draw the reflection of the shaded shape in the mirror line.

You may use a mirror or tracing paper.

mirror line

4

1 mark

Circle the number nearest to 1000

1060 1049 1100 960 899 5

1 mark

4

5

4

[1 mark]

4
4

[2001]



 6

What’s my number?

? ? ?
 

It is a three-digit number.

All the digits are odd.

The digits add up to 7

What could my number be?

    
3

1 mark

3

Draw the reflection of the shaded shape in the mirror line.

mirror line

  

4

1 mark

4

[1 mark]

5
5

[2010]

 5 Total out of 4

Calculate 239 + 182

  
3

1 mark  

3

Draw the reflection of the shaded shape in the mirror line.

Use a ruler.

 

mirror line

 

4

1 mark

4
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[1 mark]

6
6

[2008]



Calculate 48 ÷ 3

7

1 mark

7

Draw the reflection of the shaded shape in the mirror line.

mirror line

8

1 mark

8

 9 Total out of 5

289982_KS2Ma_2009_081212_v0.0_Ho9 9289982_KS2Ma_2009_081212_v0.0_Ho9   9 09/12/2008 16:28:0309/12/2008   16:28:03

[1 mark]

7
7

[2009]

7 Total out of 6

25 This grid is made of hexagons.

Draw the reflection of the shaded shape on the grid.

mirror line

6 Each missing digit in these calculations is 2, 5 or 7

You may use each digit more than once.

+ =

t =3

81

Write in the missing digits.

5

1 mark

6a

1 mark

6b

1 mark

[1 mark]

8
8

[2005]



Total out of 37

Here is a design and a mirror line.

Which one of the designs below is the reflection of the
design in the mirror line?

Tick ( ) the correct design.

mirror line

5

5

1 mark

[1 mark]

9
9

[2003]



12

13

Use a ruler.

Draw the reflection of the shape in the mirror line.

120 = 100 + ( – )

Write what the missing numbers could be.

!12

12

!13
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Draw the reflection of the shape in the mirror line.

Use a ruler.

5

10

15

[1 mark]

10
10

[Extra]

Total

Draw the reflection of the shape in the mirror line.

Use a ruler.

You may use a mirror or tracing paper.

6

6

1 mark

Write two numbers, each greater than 100,
to complete this subtraction.7

4

2 0 8— = 7

1 mark

Total

Draw the reflection of the shape in the mirror line.

Use a ruler.

You may use a mirror or tracing paper.

6

6

1 mark

Write two numbers, each greater than 100,
to complete this subtraction.7

4

2 0 8— = 7

1 mark

[1 mark]

10

10

[2000]
Draw the reflection of the shape in the mirror line.

Use a ruler.

5

10

15

mirror line

[1 mark]

11
11

[2000]
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12  A triangle is translated from position A to position B.

A

B

Complete the sentence.

The triangle has moved squares to the right

and squares down.
1 mark

E00080A01524

[1 mark]

12
12

[2016]



Here is a quadrilateral on a square grid.

The quadrilateral is translated so that point A moves to point B.

Draw the quadrilateral in its new position.

Use a ruler.

5

10

15 19 Total out of 4

Write the missing number to make this calculation correct.

11 ×  = 1111
  

23

1 mark

23

Here is a quadrilateral on a square grid.

The quadrilateral is translated so that point A moves to point B.

Draw the quadrilateral in its new position.

Use a ruler.

B

A

24

24

1 mark

[1 mark]

15

15

[2010]

B

[1 mark]

13
13

[2010]

Here is a shape on a square grid.

The shape is translated so that point A moves to point B.

Draw the shape in its new position.

Use a ruler.

5

10

15

Page 10 of 24 

  Here is a shaded shape on a grid. 
 
The shape is translated so that point A moves to point B. 
 

Draw the shape in its new position.
 

Use a ruler. 
 

A

B

 

2 marks

 

8

2 marks

M003703_whittington  –  12 March 2015 3:22 PM – Version 3

KS2 item template version 1.1

6P2

S00070A1024

[1 mark]

16

16

[2016S]

[1 mark]

14
14

[2016S]
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X  Here is a triangle drawn on a coordinate grid.

y

x

6

5

4

3

2

1

0

_1

_2

_3

_4

_5

_6

_5_6 _4 _3 _2 _1 1 2 3 4 5 60

 The triangle is translated 7 right and 5 up.

Draw the triangle in its new position.

7

1 mark

6P2  Sandwich spread

KS2 item template version 1.2

M004793  –  9 January 2017 11:49 AM – Version 3

F00080A0924

[1 mark]

15
15

[2017]
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20  Here are two identical shaded triangles on coordinate axes.

A

(0,8)

y

x

(3,8)

(9,0)

B

0

 Write the coordinates of points A and B.

 A = (            ,            )  

 B = (            ,            )
 

2 marks

 

Not  
to scale

2 marks

M003617_teeth  –  14 April 2015 1:49 PM – Version 4

KS2 item template version 1.1

6G5

S00070A2024

[2 marks]

16
16

[2016S]
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20  Here are two triangles drawn on coordinate axes.

(_10, 40)

(10, 10)

(20, 30)

y

x0

A

B

 Triangle B is a reflection of triangle A in the x-axis. 
 
 Two of the new vertices of triangle B are (10, –10) and (20, –30). 
 

What are the coordinates of the third vertex of triangle B?

 
(            ,            )

 1 mark
M003924

M003924_x-flector  –  10 November 2015 9:56 AM – Version 5 

KS2 item template version 1.1

6P2 6P3

E00070A02124

[1 mark]

17
17

[2016]



The shaded triangle is a reflection of the white triangle in the mirror line.

5

10

15

Write the coordinates of points A and B.

Total

The shaded triangle is a reflection of the white triangle
in the mirror line.

Write the co-ordinates of point A and point B.

( , ) 22a

1 mark

B is

22

22b

1 mark

( , )A is

23

23

1 mark

16

Leila knows that

65 x 3 = 195

Explain how she can use this information to find the
answer to this multiplication:

165 x 3

[2 marks]

18

18

[2000]

Draw in and shade 3 triangles to complete the reflection in the mirror 
line.

5

10

15

Mirror line, Theatre

Draw in and shade 3 triangles so that the dashed line is 
a line of symmetry (a mirror line).

2

2 marks

Rachel likes going to the theatre.

Each time she goes she pays for one ticket and one programme.

In one year Rachel goes to the theatre 13 times.

Altogether, how much does she pay?

Show your working.

£

Programme

£ 2.50

Ticket

£18.45

3

2 marks

Y7/03/Ma/Levels 3–4/P2
4

S	

mirror line

[1 mark]

19

19

[Extra]

A

C

Point C is where the mirror line crosses the x-axis.

Write the coordinates of point C.
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20  Here are two identical shaded triangles on coordinate axes.

A

(0,8)

y

x

(3,8)

(9,0)

B

0

 Write the coordinates of points A and B.

 A = (            ,            )  

 B = (            ,            )
 

2 marks

 

Not  
to scale

2 marks

M003617_teeth  –  14 April 2015 1:49 PM – Version 4

KS2 item template version 1.1

6G5

S00070A2024

[1 mark]

16

16

[2016S]

C =
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20  Here are two identical shaded triangles on coordinate axes.

A

(0,8)

y

x

(3,8)

(9,0)

B

0

 Write the coordinates of points A and B.

 A = (            ,            )  

 B = (            ,            )
 

2 marks

 

Not  
to scale

2 marks

M003617_teeth  –  14 April 2015 1:49 PM – Version 4

KS2 item template version 1.1

6G5

S00070A2024

[1 mark]

16

16

[2016S]

[3 marks]

18
18

[2000]


